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ورقة عمل 

الرياضيات 

ضرب الأعداد الصحيحة 
وقسمتها 
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ورقة عمل 

الرياضيات 

 :جد ناتج ما يلي: 1س

①   − 12 × (−5) =

②    8 × (−9) =

③    − 24 ÷ (−3) =

④    37 ÷ 7 =

⑤    (−8)2 =

⑥    18 − (−10) ÷ 2 =

⑦    12 ÷ (−4) + (−6) × 3 =

⑧  (−14 +  −16) ÷ (−3) =

⑨  − 10 − 10 ÷ 10 + 10 × (−10) =
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ورقة عمل 

الرياضيات 

 :جد ناتج ما يلي: 1س

①   − 12 × (−5) = 60

②    8 × (−9) = −72

③    − 24 ÷ (−3) = 8

④    37 ÷ 7 = 5

⑤    (−8)2 = 64

⑥    18 − (−10) ÷ 2 =

 18 −  −5 = 18 + 5 = 23

⑦    12 ÷ (−4) + (−6) × 3 =

−3 + (−6) × 3

−3 +  −18 = −21

⑧  (−14 +  −16) ÷ (−3) =

 −30 ÷  −3 = 10

⑨  − 10 − 10 ÷ 10 + 10 × (−10) =

−10 − 1 + 10 × (−10)

−10 − 1 +  −100 = −11 +  −100 = −111




